
	Week 4 Day 1 answers Chapter 8 lines 1660 – end of chapter

	
1)
	What caused the children to forget ‘how very odd it was’ ?
They were too busy biting their gingerbread into different shapes 
	1	

	2)
	He listened. From down below — in the garden, it seemed — they could hear several voices whispering together, very earnestly and excitedly.
What is the meaning of ‘earnestly’ in this context?
	X

	

	

	

	

	

	


Tick one
                                                                               
eagerly

seriously

firmly

intently
 
	1



	3)
	Look at lines 1767 – 1768 what do you think Mary Poppins was looking for? How did she know where to look? The gingerbread starts because the children told mrs cory where each them hid it when they were at her shop
	2



	4)
	Why do you think the two sisters finish each other’s sentences? 
Because they are nervous, especially of their mother– it says “miss annie nervously finishing her sister’s sentence’
	2



	5)    
	Look at line 1731. What is the purpose of the short sentence? 
To show a length of time. That this went on for a long time
	1



	6)
	Put the statements in order from 1-5 the first one has been done for. 
	Statement

	1-5

	Jane knew Michael couldn’t give her the right answer  
	5

	The children are woken by a noise on the stairs 
	1

	Mary Poppins’ basket is glowing
	2

	The gingerbread starts begin to twinkle
	3

	The drawer and the wardrobe were empty
	4



	1

	8)
	Look at line 1748. What would your answer be to Jane’s question?
I think the stars are gold paper because their made out of gold paper and then become stars or the gold paper is the stars because that’s what the paint to the sky. Answers that explain one way or the other referring back to the chapter will gain 2 marks. 
	2 marks

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false. 
	 
	True 
	False

	Mary Poppins put glue on the sky
	
	X

	Mrs Cory carried the ladders
	
	X

	Miss Fannie and Miss Annie moved the ladders
	X
	

	Michael said ‘I told you so’
	X
	



	1 mark

	10)
	Looking at this extract overall, why are the gingerbread stars important? Use evidence from the text to support your answer. 
The gingerbread stars are important in this chapter because not only are they important to the children because they don’t eat them and instead keep them, but in this instance they come from a magical shop. Furthermore, they then become the stars in the sky, stuck on by mrs cory and Mary Poppins, this is important because it answers a questions – albeit a fantasy answer – as to how the stars get in the sky, it creates the lovely idea that they are actually stuck in the sky. Answers to that effect gain 3 marks. 
	3










	Week 4 Day 2 answers Chapter 9 lines 1755 - 1851

	
1)
	What does Ellen mean when she says Jane and Michael are ‘just like a shop window’?
They are dressed so nicely they look like mannequins showing off new clothes in a shop window. 
	1	

	2)
	The gold shaft of sunlight lengthened across the room. It was obviously moving as quickly as it could in order to oblige John.
What is the meaning of ‘oblige’ in this context?

	X

	

	

	

	

	

	


Tick one
                                                                               
accommodate 

help

pressure

be thankful  
 
	1



	3)
	What does Mary Poppins like that the starling doesn’t? 
The twins chattering
	1



	4)
	Explain why John and Barbra can talk to the sunlight and the Starling 	
Because they are babies and haven’t had their first tooth come through yet
	2



	5)    
	Look at line 1774. Why is the word delicious written as ‘Dee-licious!’?
It emphasises they was she says it, therefore when you’re reading you say it in the same way
	1



	6)
	Put the statements in order from 1-6 the first one has been done for. 
	Statement

	1-5

	The starling lives on top of the chimney
	2

	The starling nibbles the arrowroot biscuit
	3

	The sunshine goes in John’s eyes
	1

	John puts his feet in his mouth
	4

	Barbra pulls her socks off
	5



	1

	7) 
	How would you explain what type of character the Starling is
I would say the starling is a ‘busy-body’ someone who likes to be involved in other people’s business but then comments on in negatively e.g. he wants to know what the chatter is about but then says it’s too much chatter despite doing the same thing himself
	2

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false.
	  
	True 
	False

	John and Barbra can talk to the wind
	X
	

	John thinks adults have a sensible way of talking
	
	X

	Barbra likes to eat knobs of beds
	X
	

	Aunt Flossie thought John was clever
	X
	



	1 mark

	10)
	Why are the babies mocking adults? 
 Because they don’t understand the things that they do, they can’t heard the wind, the birds of the sunshine, nor do they understand why they are crying. They also say things they don’t mean like when aunt flossie says barbra is so sweet she’d like to eat her they don’t understand why the speak that way and say something they don’t actually me. 
	2

	11)
	From what you’ve read so far of this chapter, what do you think the purpose of it is? Use evidence from the text to support your answer. 
The purpose of this chapter is to explore the innocence of youth, to show that babies can understand things that adults might not. It also shows a different point of view to that of which we have been reading so far and adds to what we know about mary and how magical she is. You will need evidence to support these statements.
	3










	Week 4 Day 3 answers Chapter 9 lines 1859 – end of chapter

	
1)
	Why does the starling jeer at Mary Poppins?
Because he is teasing her as she missed when she tried to shoo him away.0
	1	

	2)
	“I said,” he repeated more distinctly, 
What is the meaning of ‘distinctly’ in this context?
	X

	

	

	


Tick one                                                                     
clearly
emphatically
vaguely
undeniably
 
	1



	3)
	Look at line 1860 – 1866. In this context what is the difference between hearing and understanding? In this instance is that the children will hear the wind and the noises it makes but they won’t understand what the wind is saying. 
	1



	4)
	Is Mrs Banks effective in soothing the crying babies? Why?
No it is not, because she doesn’t understand what they’re crying about. She thinks it’s to do with their teeth coming through when in fact is about the fact they won’t understand things anymore
	2



	5)    
	Explain why the starling is laughing on line 1885. 
Because the starling knows Mrs Banks doesn’t understand why the babies are crying and seems to making the them worse than better. 
	2



	6)
	Put the statements in order from 1-5 the first one has been done for. 
	Statement

	1-5

	The babies stop crying 
	3

	The wind whisper gently to the trees
	1

	The babies have their first birthday 
	4

	The babies cry long-drawn sobs of deep unhappiness
	2

	‘So it’s happened’ says the starling
	5



	1

	7) 
	Is Mrs Banks correct when she says “There, you see, Mary Poppins! They’re quite good again. I can always comfort them.”. Explain why with evidence from the text.  
No she is not because john realised that ‘he was quite font of his mother and remember what was due to her. It was not her always, that she always said the wrong thing.’ So as a result of this john stops crying to show his mother his trick and to be kind to her, the Barbra follows as she doesn’t want to be ‘outdone’ by her brother. 
	2

	8)
	Looking from lines 1917 – 1928 how has babies response to the starling changed?
Usually Barbra wuld off the starling some of her biscuit when he asks her, instead she responds with ‘be-lah-belah-belah-belah’ because she can no longer understand him. 
	1 mark

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false. 
	 
	True 
	False

	The babies have the first birthday
	X
	

	Mrs Banks understands her babies
	
	X

	The starling is surprised when he returns 
	X
	

	The starling is crying
	X
	



	1 mark

	10)
	Now you’ve read the whole chapter, how has the purpose changed from your original impressions? Is there an overall message in this chapter. Support your answer with evidence from the text.
This is down to your individual opinions. If yes you must say what it was before and how it has changed, you must use evidence to support how it has changed 2 bits minimum. I no, you must use the evidence from your previous answers and back it up with new evidence from the second half of the chapter. 
	3








	Week 4 Day 4 Answers Chapter 10 lines 1961 - 2079

	
1)
	Why was Mary Poppins in a hurry?
Because she was cross
	1	

	2)
	a very tall stork who was tip-toeing between them with dainty, delicate movements.
What is the meaning of ‘dainty’ in this context?
	

	

	X

	

	

	

	


Tick one
                                                                               
careful

refined

fancy

demanding 
 
	1



	3)
	She even snapped at the twins. What does snapped me in this context?
That she spoke to them in a short but mean way
	1



	4)
	Explain why you think this chapter is called ‘Full Moon’. What affect does this have on the reader. 
Something is going to happen on a full moon, when something doe happen on a full moon it usually out of the ordinary or mystery. So it makes the reader curious about what might happen on this full moon and therefore makes them want to read on. Sometimes full moons can be associated with werewolves and other mythical creature, so the reader could be thinking along those lines
	3



	5)    
	‘Care killed the cat’ is a phrased used by Mary Poppins. Today we might say ‘curiosity killed the cat’ What do you think this phrase means?
Wondering about something like that or interfering in other people’s business will get you into trouble
	1



	6)
	Put the statements in order from 1-6 the first one has been done for. 
	Statement

	1-5

	A voice wakes them up by saying ‘hurry’
	2

	They see a monkeys laughing at an old gentleman
	6

	The children moved toward the turnstile
	3

	The children were put to bed early
	1

	The animals going by say ‘birthday’ and ‘full moon’
	4

	The lion is ‘dee-lighted’ to show them the way
	5



	1

	7) 
	Look at line 2054 – 2061. Why is the seal disappointed?
Because he wasn’t the children to dive for orange peel just like hes made to but when he realises their special friends and he can’t he’s disappointed as he won’t get his revenge. 
	1

	8)
	Look at line 1999 – 2000. Why is this an effective description? 
Because normally you can’t hear slippers that loudly so it shows it the dead of night and show how quickly they are moving. Also if you’ve ever worn slipped outside you know they make this sound and therefore makes it easier to imagine
	2 marks

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false. 
	 
	True 
	False

	Mary Poppins was cross with the children
	
	X

	The Bear is always out of his cage at night
	
	X

	Everything was literally upside down
	
	X

	The Lion was terrifying
	
	X



	1 mark

	10)
	Explain why Michael’s comment about the zoo makes Mary Poppins less cross. You need to refer to the extract as a whole. 
It makes her less cross because the children are about to go to the zoo at night time, mary poppins must know this beforehand and therefore because she knows something the children don’t about whats to come she becomes a little less cross
	2

	11)
	What impression do you get of the zoo at night?
These are examples, use your judgment from these to mark your own
Busy				‘there seems to be a lot going on’ 
				animals were running about in all the paths 
Out of the ordinary / 		two wolves ran past talking easrly to a very tall stork
Everything swapped around 	the bear gives them tickets instead of the other way round 
				The bear is out of his cage as Michael recognises him
	3 marks







	Week 4 Day 5 answers chapter 10 lines 2087 - 2211

	
1)
	Why is Admiral Boom in a cage?
Because he was left inside the zoo after the gates were shut
	1	

	2)
	Look at line 2145
What is the meaning of ‘contrary in this context?
	

	

	

	

	X

	

	


Tick one
                                                                               
awkward

unhelpful

difficult

contrasting 
 
	1



	3)
	What clue are the children given by the penguin about whose birthday it is?
The penguin is writing a pome and the name in the poem is Mary. He’s hinted he can’t you the ‘Mary, Mary quite contrary, how does your garden grown’ poem and the children only know 1 person called Mary 
	2



	4)
	Name 3 things that the people in cages are fed.
Any three of the following are suitable: bottles of milk, sponge-cake and dough-nuts, thin bread and butter and wholemeal scones, lamb cutlets and custard in lasses
	2



	5)    
	Look at lines 2161 – 2163. How would you describe the bear’s behaviour here?
Protective as he puts his arm around them to guide them.
	1



	6)
		Put the statements in order from 1-5 the first one has been done for. 
	Statement

	1-5

	The gentlemen get fed lamb cutlets
	3

	The lost people get put in cages
	1

	They meet the Brown Bear again
	4

	Admiral Boom is describe as nasty and dangerous
	2

	The Hamadryad greets Mary Poppins
	5






	1

	7) 
	Looking at lines 2173 – 2174. Is Mary Poppins reaction to the children surprising? Explain you answer. 
Because she doesn’t greet them she just scolds them for what they are wearing she ‘demanded and snapped’ at them.
	2

	8)
	Look at lines 2178 -2182. How is the Hamadryad described? What impression do you get of him?
He’s described a graceful, golden and kissed mary on the cheek and the other. I get the impression that he is respected, old and kind because the brown bear and other snakes bow. He moved slowly and kind because of how he greets Mary. 

	2mark

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false.
 
	 
	True 
	False

	Mary Poppins is sitting on a log
	X
	

	The Lion’s mane is curled
	X
	

	The penguin is writing a poem
	X
	

	The Hamadryad gives its skin as a birthday present
	X
	



	1 mark

	10)
	The Hamadryad commands the respect of all those around it. Use evidence from the text to support this statement.
The snakes and the brown bear bow as he approached mary poppins. 
He tells people of be seated – usually you get told that by someone in a position higher than you own you commands respect. 
He enquires who the children are with hostility before telling them to be seated once we learn they are ’her friends’
[bookmark: _GoBack]
	3











image4.png




image5.jpeg




image6.jpeg




image7.png




image8.png




image1.jpeg




image2.jpeg




image3.png




